
1 // SMG-1 Maximum interventions, decision maker: manager
2 <<manager>> R{"rm_calls"}max =? [ F end ]
3 // SMG-2 Minimum interventions, decision maker: manager
4 <<manager>> R{"rm_calls"}min =? [ F end ]
5 // SMG-3 Maximum interventions, decision maker: cameras
6 <<cameras>> R{"rm_calls"}max =? [ F end ]
7 // SMG-3 Minimum interventions, decision maker: cameras
8 <<cameras>> R{"rm_calls"}min =? [ F end ]
9 // SMG-5 Maximum interventions, cooperative

10 <<manager, cameras>> R{"rm_calls"}max =? [ F end ]
11 // SMG-6 Minimum interventions, cooperative
12 <<manager, cameras>> R{"rm_calls"}min =? [ F end ]
13 // SMG-7 Maximum frames dropped, manager
14 <<manager>> R{"frames_dropped"}max =? [ F end ]
15 // SMG-8 Minimum frames dropped, manager
16 <<manager>> R{"frames_dropped"}min =? [ F end ]
17 // SMG-9 Maximum frames dropped, cameras
18 <<cameras>> R{"frames_dropped"}max =? [ F end ]
19 // SMG-10 Minimum frames dropped, cameras
20 <<cameras>> R{"frames_dropped"}min =? [ F end ]


